Inner Join  vs. Outer Join

What does it mean & How do I use it

As an Example – Do a simple 1 step V-22 Slm Query.

Query on Acq slm - Select  End Article,   List Cd & Del Ind

Criteria  End Article is V-22, Del Ind is N.

Don’t forget to set your query property  Unique Values to YES

Run Query.

Dataset result is 272 records.                Write that number down .

Now go into design mode.

With Dataset open click on upper right icon Blue ruler & pencil.

Now click on plus icon on the top in the middle (yellow plus sign)

Add Acq Boi table.   Join Acq slm List Cd to Acq boi  List Cd & select NIIN from Acq boi.

**** Note you don’t have to reset  query property.

Query should look like this:
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Run Query

Dataset result is 3585  records        (1 to many)  (1 List Cd has many NIINS)      

Close Query and Save as V-22SLM-NIIN Query.

Everything is looking good !!

Now Re Query  V-22SLM-NIIN Query and select ONE FIELD only unique List Cd. 

Run Query 

If Dataset result is 3585 records, it is wrong !!

Guess who forgot to set your query property  Unique Values to YES.

Now Dataset result is 206 records.

Remember the 1st number we wrote down was 272.

Difference is 66 records.              
WHY      ??????

You can cancel this Query.

The reason is that there are 66 non deleted V-22 List Codes that are not related to any NIIN.

They are in Acq Slm but they are not in Acq Boi.

This example is to better understand the concept of Inner & Outer Joins.

All Joins by default are Inner Joins which means that the resulting dataset will only show the selected records that are contained in both tables.

To determine the 66  List Code records that do not have a Niin we have to do a Outer Join.

Outer Join says show me what matches in both tables but also show me everything in Table 1

(Acq Slm) whether it matches or not.

To perform a Outer Join go back into Design Mode on V-22SLM-NIIN Query.

Click on the Join Line until it becomes Black & bold.

Now Right Click and choose Join Properties.

Choose Option 2 & click Ok button.
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Now run Query.

Now Dataset result is 3651 records.

Which is 66 records more than the previous # of  3585.

Click on the NIIN titlebar & Right click choose Sort Ascending.

All 66 records with blank NIINS will appear at the top.

To run query showing 66 unmatched records only.

Go back into query Design mode and enter the criteria   Null under the NIIN field.

Run Query showing  Dataset of 66 unmatched records.

You can use outer joins on all your queries, but if you use 1 outer join, then all

joins within the same query must be outer joins.

It will pick up all the records in the table only after the Criteria is met.

